addazui
Quantitative Aptitude for RRB NTPC (Solutions)

$1. Ans.(b)
Sol. C.P of Mixture = 20 x —~ = 16 Rs.
Using Alligation

25 0

16
16 : 9

S2. Ans.(b)

Sol. Price of 7 kgtea =7 x 280 = 1960 Rs.
Price 9 kgtea=9 x 240

= 2160 Rs.

Average Price
1960 + 2160

16
= 257.50 Rs.

S$3. Ans.(b)
Sol. Using Alligation
30 50

45
5 15
1 . 3

$4. Ans.(a) TEST SERIES
Bilingual

Sol.
Milk : Water

T RRBNTPC

7 : 3

(7+ 2)r— 729 liters PREM'UM

9r — 729 liters ¢ CBT-land CBT-II

1r — 81 liters ¢ 30 Previous Year Papers
Water Added =(3-2)r

=1 120 TOTAL TESTS

= 81 liters
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$5. Ans.(a)

Sol.
Zinc : Copper
Istalloy - 1 2
) 1 1
Zinc=——=-
142 3
lind alloy=2:3
Zin.t::E
5
Mixture - 5: 8
Zin.t::i
13
Using Alligation
1 2
3 5
5
13
2 5 51
5 13 13 3
26—25 15—-13
65 39
65 39
3:10
$6. Ans.(b)
Sol.
A B
x liters — 4 1
X -10+10
) — 2 3x2
= X liter
X liter — 4 1
x liter — 4 6
(6—1)r— 10 liters
5r — 10 liters
1r — 2 liters

Initially Quantity of liquid A = 4r
=4 X2
= 8 liters

2 | www.bankersadda.com

www.sscadda.com

www.careerpower.in

www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

$7. Ans.(c)

Sol.
Milk : Water
2 : 1
1 o 2x2
2 : 1
2 : 4
(2+1)r— 75 liters
1r — 25 liters
Water Added = {4 -1} r
=3r=3x 25
= 75 liters
$8. Ans.(c)
Sol.
Gold Copper
A— 5 : 3
5 3
Gold = o Copper = s
B— 5 : 11
5 11
Gold = 1—%, 5C0pper =T
Mixture Gold ==+ —
R 16
15
16 3 11
Copper 3 + &
17
16 15 17
Gold : Copper:; : -
=15:17 BILINGUAL
S9. Ans.(a)
Sol.
Gold : Silver SR aitazrl ™
Bikiloy-5: T = B S -
RRB NTPC 4.0
lind Alloy — 21 : 37 .
Gold = 21/58

Starts April 9, 2020

2PMto3PM
Gold = 25/87 [ 2PMto3PM ]

Mixture — 25 1 62
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Using Alligation

7 21
29 58
25
87
21 25 25 7
58 87 87 29
63—350 25-21
174 g7

13

174 87

13 8
$10. Ans.(c)

Sol.
Let Principal = P

Px 15 x 15 Px8x25

12X 100X 2 12x 100X 2

= 32.50

225P—-200P=3250x 12 X 100 X L

25P=3250X 12 X 100 X 2
P=Rs. 3120

$11. Ans.(b)

Sol.

Price of 10 kg wheat =8 X 10
= 80 Rs.

Price of 15 kg wheat =10 X 15
=Rs. 150

Price 25 kg wheat = 80 + 150
= 230

Average Price per kg

_ 230 9.7 Rs
i 25 I - -
$12. Ans.(d)
Sol.

Mixture — 40 liter
M:W — 00:10
0:1
Milk = 40 X — = 36 liters
Water = 40 - 36 = 4 liters

New Milk : Water =80 : 20
=4-:1
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36
4+x
36=16+4x
20 =4x
x =5 liters

| e

$13. Ans.(b)
Sol.
Solution — 3 liters
Sugar = 60%, Water = 40%
Sugar =3 X 20 _ 1.8 liters
100
Water =3 X —= = 1.2 liters
100
Mew 1 liters of water is added.
Quantity of sugar in New solution = 1.8 liters
Total quantity of solution
=3+1
=4 |iters
1.8
% of sugar =7 X 100

=45%

S$14. Ans.(a)
Sol.

S.P of Mixture = 68.20/kg

C.P of Mixture = 68.20 X ==

110
=62 Rs./kg
Using Alligation
60 65
62
Ratio— 3 : 2

$15. Ans.(b)
Sol.
Wine : Water
3 : 1
Let Wine — 3
Water = 1
Let x quantity of Mixture is taken ratio of Wine & Water in the
mixture taken out—» 3:1

Wine in x quantity taken out
3

= X —
1%

_3x
4

A adda

publications
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Water in x quantity of mixture taken out
x

4
Wine in new mixturs
] 3x
- 3=
4
Water in new mixture
1 Lx +
=]1——+x
4
3
- 4
1x
12 —3x
4 =
4—x+4x 1
—
12—3x=4+3x
B =28
X =4,.'"3
Quantity taken out = 4/3

3

1

Fraction =

1
3

$16. Ans.(d)

Sol.

Using Alligation
Bovs Gitls

50 70
60

10 : 10

1 y 1

No. of Boys & Girls are equal
12500

Number of girls=
= 6250

$17. Ans.(d)
Sol.

Original quantity = 81 liters
Quantity taken out = %

= 27 liters
Using formula
Final quantity

Quantity taken uur)

= Original quantity (1 Original quantity

n = number of times process repeated
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Final quantity

2742
=81 (1——)
81

2 2
—o1x(2)
3

4
=81 x a = 36 liters

In 81 liters
Quantity of Milk = 36 liters
Quantity of Water =81 - 36

= 45 liters
Ratio of Milk & Water in New Mixture
=36:45=>4:5
$18. Ans.(d)
Sol.
Milk : Water

Original — 7 - 3 x 2
After adding water —» 2 1 x 7
Ratio of Milk will remain same.

Milkk : Water
= 14 - 6
= 14 - 7

(14 +6) r=80liters

20r — 80 liters

1r — 4 liters

Ratio of water Added = (7 —6)
=1r

Water Added =1 x 4

= 4 liters

$19. Ans.(c)

Sol. Quantity of Milk is vessel A =4/9
Quantity of Milk in vessel B = 5/6

Quantity of Milk in mixture = 5/9
Using Alligation

i E 6 Months Subscription
9 6
5
5 RRB NTPC
5 5 5 4
73 7 s KA MAHA PACK
15-10 1 Test Series, Live Classes,
18 9 Video Course, eBooks
5 1
I 9 ons
5 Bilingual
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$20. Ans.(b)

Sol.

Mille : Water
7 : 5
7 : 8

(B—5)r— 15 liters

3r — 15 liters

1r —= 5 liters

Br— 5 X B = 40 liters
Quantity of water = 40 liters

$21. Ans.(d)
Sol.

S.P of Sugar =Rs. 16
There is no loss & gain
~ C.P of Sugar=Rs. 16
Using Alligation

20 15

16

$22. Ans.(a)
Sol.
Milk Water
1stGlass— 3 : 5
Milk in Glass 1 = 3/8
2ndGlass— 6 : 1
Milk in Glass 2 =6/7
New Mixture - 1:1
Milk in Mixture = 1/2
Using Alligation

3 6
8 7
1
2
6 1 1 3
7 2 2 8

12-7 4-3

14 = 8
5 1
14 8
20:7
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$23. Ans.(c)

Sol.
Milk : Water
ap 10
0 : 1

After adding 20% water = 80 : 20
=4:1

0 1 x4

4 = 9

36
36
(36 +4)r—40L
40r— 40 L
Ir—=1L
(9-4)r=>5r
=5bx1

=5 liters

f—t

L =R

S$24. Ans.(a)

Sol.
Wine : Water

 — 3 : 2
o™ — 4 : 5
Mixture — 1 : 1

Wine in 1st Mixture =

LT %]

. . A 4
Wine in 2rd Mixture -~

. . 1
Wine in Mixture = 3

Using Alligation
3 4
5 9
1
2
1 4 31
290 52
0-8 6-5
18 10
1 1
18 10
5 : 0

TEST SERIES
Bilingual

RRBNTPC
PREMIUM

¢ CBT-land CBT-II
¢ 30 Previous Year Papers

120 TOTAL TESTS
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Let x liters of Mixture 1st is taken

WO,
I

liters

1
=t
L | DD La | U] e

$25. Ans.(a)
Sol.

Totaldays = 21+30+31+31+ 10

= 123 days
_ 7300 x 123 x5

365 x 100
=123 Rs.

$26. Ans.(c)

Sol.

His gain =

5000 x 25x 2 5000x4x2

4% 100 100
=625 -400

=225 Rs.

$27. Ans.(b)

Sol.

n;—1 n;—1
t - %
3—1 2-—-1
20 &
t; = 10 years

$28. Ans.(d)
Sol.
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1 10

(t+go0) 22
12 r

10~ 7100
12 100+r

10 100
120 =r+ 100
r=20%

$29. Ans.(d)
Sol. C.I for two successive years = Rs. 225 & Rs. 238.50

238.50 — 225

Rate % = ————— x 100
225
1350

225
1350

© 225
= 6%

x 100

$30. Ans.(c)
Sol.

51 for 2 years
_ PXxRxt

100
_ 5000 X 10 X 2

100
= 1000 Rs.

C.I at compounded semi annually

Rate =% = 504

Time =2 x 2 = 4 semi years

- N
C.1 = 5000 l(l -I-—) < 1]
100

21 4 publications
= S00% l(ﬁ) ~ 1} “THE CRACKER”
194481 GENERAL SCIENCE

= 5000 [1 60000 l] Multiple Choice Questions Book
34481 with Detailed Explanations

= 5000 X ———
160000

_ 172405 '

160 NE

=1077.50 FIRST EDITION

Sita will have = 1077.50 - 1000 s

= 77.50 Rs. more i W Includes

with 100%. Explanation Previous Years
Solutions of Physles, Questions
Chemistry & of all topics

Biology

55C.
e P
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